E m OB e SHIEBRE ..

T |l —| — ) m— —

- e T TR e I T j—
2 : [Toa Do
154 [ e e W i ™ e P &
OV - T CaTEn,
g% mssr=l B it
: . Y TEFEEIIES oe —
2N TN\ 2 gli| [ [ To]
> 0 B QﬂmﬂmL?m ﬁ RN ST BT IR (13)
AN g T T Jj | \ / B
Sm il ] o [T B B E
B R TR i i ’ .
£ L5 el EJILE \'T;F.)E-ﬂ"rf'lrz EE=20mm
= Hilbih b (RC-10)
ell, 2
f:‘ED ]
<~ SPER 78 "eosle 7] IRt -
Cilégj 2 X mins| =
53 A S 5
¥ , TR R
: 2 7~ S=NON

DL LILALALT

Z2als NE A INETN

5l a1, 213 g1
By N <><> S L
7 <> | /
& O { \ _;'f
a \ } ’f
< QQ @ \ b f

8,000 ~ 8,950

o : % o 99 X7 \
i 4. ! .
|

Ti-sm — i
/ N\
/ \\
R 1 (1 B / N #RT (5em)
W= lhecm

202,
e
57.(6%

) X IR

~ 6.
"
T193. 6

)\ a7 ETA\ N

h

HET ) RRE
T % % ThibiTs

gL

FE TS %% BIESRAEDHN G, BA

HEOREE| Fan SEesE - #rsng

4 R| ss |mmas| 1

% sk




a2 B OB X o0

. A2k
] ]
¥ )
'X @ 7@% JE Bﬁ >< S=1:400
£7J5 (8)  W=45cm L=29. 5m\
8 (B)  W=15cm  L=58. 5m \
e . e =L, ".:.\ - =
% \ — .. \"'\
' 5 : B F i ER
Eﬁi (A)  W=15cm L=10. 8m \&ﬁ (B)  W=15em  L=9m (Imx9A&) \%%i (A)  W=15cm  L=32. 4m \BEES (B3) W=15om L=20m (5mx 67K)
Eir¥&xE? 1SmicE [ =5, /m
i =63 1SmiE [ =6, /m
BIEEIFEEAES 1DmirE [ =/, 9nm
BiE/TiT KA 1SmiE [ =8, 9m

L ow g THT/DEBR

HERELE

TETEMR | 2%T REAGESHETEA ©BA

HECER| StEEX- YEREEX

# R ? = \@%% 2

% %k W




